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Question 2

D: 4
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Question 3

B: 80 cm2
The total surface area of the composite object is reduced by twice the area of the triangular side.

Twice the area of triangular side = 
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     = 80 
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This figure has vertical line symmetry, as shown above.
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Question 5

a)  Its order of rotation is eight.
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b)  Its angle of rotation is 45°.
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Question 6

a)  The letters A, H, I, M, O, T, U, V, W, X, and Y have vertical line symmetry; the letters B, C, D, E, H, I, K, O, and X have horizontal line symmetry; the letter O has oblique line symmetry.
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b)  The letters H, I, N, O, S, X, and Z have rotation symmetry with an angle of rotation measuring 180°.
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Question 7

The ratio of the original surface area to the new surface area is 1:1 because cutting a corner from a rectangular prism does not affect the surface area. Each face on the cut-out can be translated to form the original rectangular prism.
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Question 8

The two lines shown below in red measure 10 cm and 6 cm. Cutting the object in half will increase the surface area of each half by the area of the rectangular face outlined in red.
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(10 × 6) = 60

So, each half of the object has an additional 60 cm2 of surface area.
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Question 9

a)  The dimensions of the rectangular prism with the greatest surface area are

1 cm × 1 cm × 36 cm. The surface area of this prism is 146 cm2.

b)  The dimensions of the rectangular prism with the least surface area are

3 cm × 3 cm × 4 cm. The surface area of this prism is 66 cm2.

c)  A rectangular prism with one long side results in a greater surface area than a prism with sides of equal or near-equal value.
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Question 10

Example: There are vertical and horizontal lines of symmetry.

There is rotation symmetry, of order 2 with an angle of rotation of 180°.
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